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2x— ly+6z=47
Ix+ 1y —5z=-30
Ix+ 6y +3z=69

3x—5y—3z=-23
2x+2y—3z=-2
4x—4y — 5z =-28

2x—4y+3z=-12
4x—4y —2z=-20
Sx—3y—3z=-16

6.

H #A:

Ix—2y+3z=5
Ix+3y—1z=14
2x+2y—5z=5

Ix+5y+2z=44
S5x—3y—2z=0
3x—1ly—5z=-2

4x—2y+3z=32
3x+2p+2z=47
6x— 6y + 62z =36
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2x— ly+6z=47
Ix+ 1y —5z=-30
Ix+ 6y +3z=69

3
7
8

N
I

3x—5y—3z=-23
2x+2y—3z=-2
4x—4y — 5z =-28
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2x—4y+3z=-12
4x—4y—2z=-20
Sx—3y—3z=-16

N2 o=
I
N L —

H

2.
Ix—2y+3z=5
Ix+3y—1z=14
2x+2y—5z=5
x=4
y=1
z=1

4.
Ix+5y+2z=44
S5x—3y—2z=0
3x—1ly—5z=-2
x=35
y="17
z=72

6. _
4x—2y+3z=32
3x+2p+2z=47
6x— 6y + 62z =36
x=17
y="17
z=6
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